FIRST YEAR HIGHER SECONDARY EXAMINATION

SAMPLE QUESTION PAPER

Part 111 Time: 2 Hours
STATISTICS Cool-off time: 15 minutes
Maximum: 60 Scores
Answer any 5 questions from 1 to 6 each carries 2 scores

CSOislocated in................... 1)
Which of the following represents median 1)

(First Quartile, Fiftieth percentile, Sixth decile, None of the above)

Give different methods of collection of primary data 2
What are the advantages of diagrammatic representation of data (2)
The journal published by ISTis ................... (1)
Data available in the records of a company is ................ 1)

(Primary data, Secondary data, Unreliable data, None of the above)
The AM and GM of two numbers are 18 and 16 respectively. Find HM (@)
Calculate Mean deviation about mean for the following data. 4, 12, 10, 8 and 6

Answer any 6 questions from 7 to 14. Each carries 3 scores

Construct a suitable diagram for the following data (3)
Category 2020 2021 2022 2023
A 38 41 64 55
B 55 22 24 48
C 79 18 50 16
Find mode for the frequency distribution 3
Marks 0-9 10-19 | 20-29 30-39 40-49
No. of students 4 6 10 3 2

Develop a questionnaire to study the impact of mobile phones among higher
secondary students. (3)

Prepare a frequency table with class interval 4. (3)

7,48, 36, 25, 31, 18, 14, 38, 30, 9, 15, 36, 23, 31, 14, 38, 14, 28, 30, 15, 36, 14, 27,
48,7, 10, 20, 27, 2,12



11.

12.

13.

14.

15. a)

b)

16.a)

b)

17. a)
b)

18. a)
b)

Name Non-probability sampling methods 3

Prepare a blank table to represent the following information (3)
Gender : Male, female, transgender
Education status: Under graduate, Graduate

Employment Status: Employed, Unemployed

Find median graphically (3)
Class 0-10 10-20 | 20-30 30-40 40-50
Frequency 5 10 20 9 6

Let A and B are any two events, such that P(A)=0.42, P(B)=0.24, and P(ANB)=0.12
find 3)

a)P(B) b) P(AUB)
Answer any 5 questions from 15 to 20. Each carries 4 marks
The median of the numbers 10, 8, 12, 4, 15,3, 101is .....covvvenenn. (1)

The first 4 central moments of a distribution are 0, 14, -62, 498. Find the coefficient
of Skewness. Write your conclusion (3)

Probability can take values

(o0 tooo, -0 to 1, -1to 1, Oto1) 1)
A box contains 5 black balls and 3 red balls. It two balls are drawn at random, what is
the probability of getting 3
a) a red ball

b) Exactly two black balls
c) atleast one red balls
Explain any one of the applied areas of statistics (2)

Match the following

A Name of students in a class 1 Ordinal data

B Number of pages in a book 2 Continuous data

C Life time of an electric bulb 3. Nominal data

D Ranks given to students after a test | 4 Discrete data

The lower and upper class limits are 30 and 40. The mid value of the class is ...... (1)
The graph used to represent a bivariate data 1)



19. a)

b)

20.

21. a)
b)

22. a)
b)

23.2)

b)

1) Mulptiple bar diagram

2) Box plot

3) Scatter plot 4)Frequency polygon

Draw a histogram (3)
No. of heart beats/min 50-55 55-60 60-65 | 65-70 | 70-75 | 75-80
No. of boys 3 5 7 4 3 1

Shoe size of most of the people in India is 8. Which measure of central value does it

represent )

i) mean i) median iii) mode iv) G.M

A group of 70 boys and 60 girls appeared for an examination. The boys obtained a
mean score of 35 and girls obtained a mean score of 40. Calculate the average score

of all students in the class (@)
If two observations are 20 and -20 find their arithmetic mean (2)
Find Quartile deviation 4
Age 0-5 5-10 10-15 15-20 20-25
No. of persons 6 9 12 4
Answer any 2 questions from 21 to 23. Each carries 6 marks
In tossing two coins at a time, the probability of getting exactly one head is ...... (1)

A class consists of 50 students of which 20 are girls. 10 girls and 6 boys in the class
got 80 marks in the | year exam. A student is selected at random is found to have

scored 80% marks. What is the probability that the selected students was a boy.

Explain Kurtosis with the help of diagram

The smallest and largest value of a series is 18 and 34. The range is

(26, 30, 16, 52)

Find the standard deviation of 5, 4, 9, 2

(5)
©)
(1)

(2)

The number of possible sample of size ‘n’ from a population of N units without

replacement is

(NC,, N", nN, n?)

(1)

The relative frequency of a class is 0.8 and total frequency is 60 find the actual

frequency of the class

¢) Which class is more consistent interms of 1Q

Class Mean S.D
A 70 8
B 40 10

@)
©)
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BLUE PRINT
STATISTICS — PLUS ONE

Question pttern Total
No Unit Objective Descriptive
No of Questions | Score No of Questions | Score No of Questions Score
1 Statistics-Score and 2 2 1 2 3 4
Development
2 Collection of Data 1 1 3 7 4 8
3 Classification and Tabulation 2 2 2 6 4 8
4 Diagrams and graphs 1 1 3 7 4 8
5 Central tendency 4 4 5 11 9 15
6 Dispersion 1 1 4 11 5 12
7 Skewness and Kurtosis - 2 6 2 6
8 Probability 2 2 2 6 3 8
9 Conditional Probabilty - - 1 5 1 5
10 | Sampling Techniques -1 -1 1 3 1 4
78




